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8 ABCisawiangle.

Disgram NOT
accuracly drawn

Aagle ABC = angle BC.
The lengthofside 48 i (35— 9 cm.
The fngth afide AC s (19
The length ofside BCis e cm.

Work out the perimete o the wiale.
Giveyour answer 5 3 umber of enimetes.

(Totsl for Question 3 is § marks)
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10 The diagram shows a garden in the shape of a rctangle.
4

accurely drave,

x+6

All messurements e in s,
“The perimetr of the garden s 32 metres.

Wk out the valueof .

(Tota for Question 10is 4 marks)
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20, Here i  whangle ABC.
Disgram NOT.

%0m

ac=0m.
Bemdom
AngheaCh = 1307,

Caeute the permeer of e isnge
Give you s ot 10 o decimal place.
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The Lok of he sdes of he wiangl re

29
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(© Findam expresion, i ams of, o he perimeter of e wiangle
Giteyour exprssion in i, Smplet fom.

The pesimeterof e mangle s 9.
©) Find e alusofx.

(Total 4 marks)
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4 The diagram shows two rectangles, Aand B.

Rectangle A | 12cm Rectangle B Not to scale

25cm

Rectangle A has a width of 25cm and a height of 12cm.
“The width of rectangle B is three times the height of rectangle B.

The area of rectangle A s equal to the area of rectangle B.

Find the perimeter of rectangle B.
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7 The diagram shows a shape ABCDE.
The shape is made from a rectangle, a right-angled triangle and a quarter of a circle.

Not to scale

41m

18m

F is the mid-point of BD.
AE = 18m and the perpendicular distance from C to AE is 41m.

Work out the perimeter of the shape ABCDE.
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6 The diagram shows a semi-circle inside a rectangle of length 120m.
The semi-circle touches the rectangle at A, B and C.

Not to scale

A c
120m

Calculate the perimeter of the shaded region.
Give your answer correct to 3 significant figures.
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14 A rectangle has length 60 cm and width 40 cm

Not drawn
accurately

40cm

60 cm

‘The length decreases by 15%
The width decreases by 10%

Sue says,
“The perimeter decreases by 25% because 15% + 10% is 25%"

Is she correct?

You must show calculations to support your answer.
[4 marks]
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1

Alarge rectangle is made by joining three identical small rectangles as shown.

Not drawn
accurately
‘The perimeter of one small rectangle is 15 cm
Work out the perimeter of the large rectangle.
[4 marks]
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A pentagon is made from a square and an isosoeles triangl.

Not drawn
accurately
126m 12em
o O
—12en——>
‘Work out the perimeter of the pentagon. (manal
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Theshap s made o  wiangle ad  sctor of ik cente O andradivs 6.
OCD s s st ie.

P
Angle 40D = 41#
Angle 04D =247

Caulat the urimeteroftheshape.
Give your answescomeet 03 signficent igurs.

(Tota for Question 161 S marks)
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19 Here s a ight-angled trangle.

Al measrsments e n centimers
“The ara of the trangle s 2. e

Find the permetrofte ingle
Give youranswer cortee o3 sinificnt fgures
You st show ll of our working

(Total for Question 19 is 6 marks)
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3 The diagram shows 2 rectangle.

x4

Diagram NOT
accuratly dravn

All measurements are given i centimetres.
The perimeter of the ractnle i 45,
Wk ot the e of 5.

(Total for Question 3 is 3 marks)
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Daagm NoT

(Total for Question 22 is 3 marks)
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13 Here is arectangle.

Disgrm NoT
2em sccurely cavn

The S-ided shap beon i uade o § of e recanglessnd  congrentrigh ngled

2
S e
o

Wtk oue e perimter of e .sided shape.
Vou st shore alyou working.

(ot for Question 13 s § marks)
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9 The diagam shors  mmpezim.

DiagamNoT
sccmaety v

D=xem
3Cs e same length 24D,
4515 ice e gt of D
DCis 4 cm longer an 45.

Theperimenr of e ez s 35 .-
Wk o e engih o AD.

(ot for Queston 9 s 4 marks)




